Further Development of the Auction using 4-Way Transfers

Up to now we have only used these transfers to a minor with weak hands. As with major suit transfers, they can be used with stronger hands. Since we are necessarily at the three level there is no room for invitational bids, so any bid by responder after making a minor suit transfer is game forcing. A new suit at a minimal level is natural, and since the hand is necessarily strong the original minor may be just 5 card.

4.2
The Minor-Major two Suiter
Hand A
How do you bid Hand A after partner has opened a strong NT? Some players


bid Stayman, and after a 2(/( response a 3( bid shows a strong hand

( AJ103
and a ( suit. But does it also show (’s? Enough. There is a much better way 

( 93
to be specific about this hand type and we need this sequence for our SARS 

( Q9
shape ask. So we transfer into the minor and subsequently bid 3(, 

( AKJ97
I.e. 1NT - 2( - 2NT/3( - 3(, showing 5+ (’s, 4 (’s and game forcing.

Now this is an excellent method and is what I shall be using in the examples but there is one possible improvement that you might like to consider if you are a firm believer that the NT opener should always be declarer. Instead of bidding your 4 card major after the minor suit transfer, you bid the other major (à la Smolen). This has the obvious advantage that opener is declarer but you do lose an awful lot of bidding space when (’s are the suit (a transfer to the next suit up is fine, a transfer to the suit below uses a complete bidding level! – that’s why I don’t like Smolen.). I’ll assume the natural approach, thus: -

1NT -  2(  - 2NT
- 3(/(
is game forcing and shows 5 (’s and 4 (/(’s

1NT -  2(  -  3(
- 3(/(
is game forcing and shows 5 (’s and 4 (/(’s

1NT - 2NT -  3(
- 3(/(
is game forcing and shows 5 (’s and 4 (/(’s

1NT - 2NT -  3(
- 3(/(
is game forcing and shows 5 (’s and 4 (/(’s




________________________

Quite often opener will have no ambitions other than a simple 3NT: -

Example 1

West 
East
West


East



( 863
( KQ97
1NT


2NT
(1)
(1)
transfer to (’s

( AKQ63
( 52
3(

(2)

3(
(3)
(2)
normal accept

( J3
( AK872
3NT


pass


(3)
natural

( AJ6
( K7









With poor holdings in both of East’s suits, West signs off. But responder may choose to bid on with a stronger hand.
If opener likes responder’s 2nd suit then he can make a move towards slam. It’s best to play that a cue bid agrees the major suit and if opener is interested in a minor suit slam he should bid 4 of the minor to set trumps. Even if opener has super-accepted the minor suit transfer, it would still be preferable to play in a major suit 4-4 fit. 

But one very important decision to make is which bid to use as the RKCB bid. Clearly we will use Kickback for the major, but what about the minor? Which is best, four of the minor or Kickback?

The answer is that it is usually best for responder to be the Blackwood bidder - he knows if slam is in the air and with the more shapely hand it’s best for him to ask. So after responder has made his 2nd bid of indicating his major suit then if opener bids the minor then that simply sets trumps (and responder will often bid the next suit up, Kickback). And if opener makes a cue bid (thus agreeing the major) then responder will again use Kickback. If opener bids a major suit it is never RKCB.


Let’s try to summarize this: -

Opener’s 3rd bid after responder shows a minor-major two suiter.

After   1NT - 2( - 2NT/3( - 3(: -
After   1NT - 2( - 2NT/3( - 3(: -

3(
=
cue bid agreeing (’s



3NT
= 
natural

3NT
= 
natural 

4(
= 
agrees (’s as trumps

4(
= 
agrees (’s as trumps

4(
=
cue bid agreeing (’s
4(
=
cue bid agreeing (’s

4(
=
agrees (’s as trumps (*1)
4(
=
cue bid agreeing (’s





4(
=
agrees (’s as trumps (*1)


 (*1) may have the (A.

After   1NT - 2NT - 3(/( - 3(: -
After   1NT - 2NT - 3(/( - 3(: -

3(
=
cue bid agreeing (’s



3NT
= 
natural

3NT
= 
natural 

4(
= 
cue bid agreeing (’s

4(
= 
cue bid agreeing (’s

4(
=
agrees (’s as trumps
4(
=
agrees (’s as trumps

4(
=
agrees (’s as trumps (*2)
4(
=
cue bid agreeing (’s





4(
=
agrees (’s as trumps (*2)


 (*2) may have the (A.

A subsequent Kickback bid by responder is RKCB for the suit agreed.

But there is a slight ambiguity if opener bids 3NT at his 3rd turn. Consider the auction 


1NT - 2NT - 3(/( - 3( - 3NT - 4(. What is the 4( bid? Is it Kickback for (’s or setting (’s as trumps? 

Since responder has only 4 (’s and opener may have only two, this is also Kickback.

So that’s it. The Kickback suit is always RKCB when bid by responder but is natural (or a cue bid) if bid by opener. This is an example of what I mean: -

1NT - 2NT - 3(/( - 3( - 3NT
- 4( 
is RKCB for (’s

1NT - 2NT - 3(/( - 3( -  4( 
- 4( 
is to play

1NT - 2NT - 3(/( - 3( -  4( 
- 4( 
is RKCB for (’s 


Example 2

West 
East
West


East



( AJ103
( KQ97
1NT


2NT
(1)
(1)
transfer to (’s

( AJ9
( 52
3(

(2)

3(
(3)
(2)
super-accept

( Q93
( AK872
4(

(4)

4NT etc to 6(
(3)
natural


( QJ9
( K7







(4)
cue bid agreeing (’s 





________________________

The sequence is also game forcing if opener does not super-accept: -

Example 3

West 
East
West


East



( AJ103
( KQ97
1NT


2NT
(1)
(1)
transfer to (’s

( AJ9
( 52
3(

(2)

3(
(3)
(2)
simple accept

( 953
( AK872
4(

(4)

4(


(3)
natural


( AJ10
( K7
pass






(4)
cue bid agreeing (’s 





________________________

Example 4

And responder may push on if opener backs off: -




West 
East
West


East













(1)
transfer to (’s
( AJ103
( KQ97
1NT


2NT
(1)
(2)
simple accept

( AJ9
( 5
3(

(2)

3(
(3)
(3)
natural


( 953
( AK8762
4(

(4)

4NT
(5)

(4)
cue bid agreeing (’s 


( AJ10
( K7
5(

(6)

6(

(5)
RKCB




pass




(6)
3 key cards




________________________


Example 5


Or opener may be interested in a minor suit slam: -

West 
East
West


East



( J63
( KQ97
1NT


2NT
(1)
(1)
transfer to (’s

( AJ9
( 5
3(

(2)

3(
(3)
(2)
super accept

( QJ93
( AK8762
4(

(3)

4(
(4)

(3)
natural


( AQJ
( K7
5(

(5)

6(

(4)
RKCB (Kickback)




pass




(5)
2 key cards + (Q




________________________


With only an invitational hand it’s probably best for responder to transfer to the minor and pass if there is no super-accept.

Example 6




West 
East
West


East



( K93
( J742
1NT


2(
(1)
(1)
transfer to (’s

( AK92
( 5
3(

(2)

pass

(2)
normal accept

( AJ92
( 103



( J6
( AQ9872





________________________


But if opener super-accepts the minor suit transfer then responder should go for game.

Example 7




West 
East
West


East



( Q953
( J742
1NT


2(
(1)
(1)
transfer to (’s

( AQ9
( 5
2NT
(2)

3NT
(3)
(2)
super accept

( AJ9
( 103
pass


( K65
( AQ9872


(3)
Responder could well bid 3( here, but with a long running (after opener has super-accepted) minor suit it may be easier to make 9 tricks in NT as the ( suit is rather poor.




________________________


It’s all very straightforward, I know, but for completeness I’ll have to give examples 1-4 (so 8-11 here) from section 2.3 (3) which were so problematic when we did not transfer into the minor: -

Example 8 (1)

West
East 1
East 2
West
East 1
West
East 2

( A4
( 75
( Q1087
1NT
2(
1NT
2(


( KJ9
( Q1087
( 75

2NT
3(
2NT
3(


( A962
( K7
( K7
4(
pass
3NT
pass

( KJ76
( AQ543
( AQ543




When we met these hands earlier West did not know which major East had and so could not play in the Moysian ( fit with East 1. 





___________________________

Example 9 (2)

West
East 3
East 4
West
East 3
West
East 4

( A4
( K5
( Q1087
1NT
2(

1NT
2(
( KJ9
( Q1087
( 7

2NT
3(

2NT
3(


( A962
( 7
( K5
4( (1)
etc to 6(
3NT (2)
pass

( KJ76
( AQ10543
( AQ10543


(1)
West likes East’s 2nd suit and so agrees to investigate the ( slam. 

(2)
West does not like East’s 2nd suit and so leaves it up to partner to make any further move.


When we met this example before, West had no idea which major East had and so could not investigate slam on the basis of the good (’s.





___________________________

Example 10 (3)

West
East 

West
East

( Q743
( K8

1NT

2(


(1) cue bid agreeing (’s

( AQ74
( K963


2NT

3(


(2) RKCB for (’s


( A3
( 84

4( (1)
4(
(2)




( KJ8
( AQ764

etc to 6(
When we met this example before the ( fit was found immediately but East has no idea about the superb ( fit and so quite reasonably simply bid game. 





___________________________

Example 11 (4)

West
East 

West
East

( AQ74
( K963

1NT

2(


(1) cue bid agreeing (’s

( Q743
( K8


2NT

3(


(2) RKCB for (’s


( A3
( 84

4(  (1)
4NT
(2)

( KJ8
( AQ764

etc to 6(


And much the same here. When we met it before West could do no better that support (’s at his 3rd turn and the slam was missed.
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